Q. 6. (a) Explain the difference between the following word pairs by using each word in your own sentences

(Any five): (5)
(1) Adverse, averse (11} altogether, all together (111} allude, elude (1v} braise, braze
(v} curb, kerb (vi) faze, phase (vil) maybe, maybe (viii} moat, mote

(b} Use any FIVE of the following in sentences which illustrate their meaning: (5)
(1) Smash hit (i1) Murphy’s law (i1i) Place in the Sun  (iv) Wooden spoon
(v) Go bananas (vi) Beard the Lion in his den  (vn) Groan inwardly  (vin) Chicken out

Q.7. Translate the following Urdu paragraph into English by keeping in view figurative/idiomatic expression.
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